# भारत कोकिंग कोल लिमिटेड

( कोल इंडिया लिमिटेड की एक अनुषंगी इकाई) एक मिनीरत्न कंपनी पंजीकृत कार्यालय :कोयला भवन , कोयला नगर

पंजीकृत कार्यालय :कोयला भवन , कोयला नगर धनबाद-826005, CIN :U10101JH1972GO1000918 सामग्री प्रबंधन विभाग

कमर्शियल ब्लॉक L-III , फ़ैक्स- 0326-2230183 फ़ोन नंबर-0326-2230181 ईमेल:gmmm@bcclweb.in,

वैबसाइट:www.bcclweb.in



#### BHARAT COKING COAL LIMITED

( A Subsidiary of Coal India Limited )
A Mini Ratna Company
Regt. Off: Koyla Bhawan ,Koyla Nagar
Dhanbad-826005, CIN:U10101JH1972GOI000918
Materials Management Department
Commercial Block L-III
(Fax No- 0326-2230183)
Phone No.0326-2230181
Email. Id: gmmm@bcclweb.in

Website: www.bcclweb.in

#### **Supply Order**

Ref: BCCL/Pur/DG SPARE/216/18-19/76

To,

M/s Jaikar Techno Pvt. Ltd.

Katras Road, Dhanbad - 826001, Jharkhand (India) ORIGINAL BY REGD. POST.

Date: 31.08.2018

GSTIN: 20AACCJ3455H3ZW Vendor Type: DEALER

PAN: AACCJ3455H

Sub: Supply of Belts and hoses for General maintenance of DG sets at Koyla Nagar Township of Cummins make against tender no.: BCCL/PUR/DG SPARE/216153/24 dtd 23.08.2017 opened on 07.09.17.

**Ref**: Your online Bid no. 219163 dtd 05.09.17 against our tender id: 2017\_BCCL\_75569\_1 and subsequent Correspondence on the above subject.

Dear Sirs,

With reference to the above, we, for and on behalf of BCCL, hereby place PURCHASE ORDER on you for supply of following items as per rate, terms and conditions indicated below.

# 1. <u>SCOPE OF SUPPLY</u>: Supply of Belts and hoses for General maintenance of DG sets at Koyla Nagar Township of Cummins make

The detailed description along with specification / size of the item along with Qty. to be supplied, Unit Rate and Extended Value will be as under:

SI. No.	Item Description	Part No/Drg No	Qty. (Nos)	Unit Basic Rate (Rs)	Extended Landed Value (In Rs)
1	Belt, v	3001600	6	1,033.00	6,198.00
2	Belt, v	178597	6	900.00	5,400.00
3	Belt, v	3040448	3	696.00	2,088.00
4	Belt, v	178567	3	543.00	1,629.00
5	Belt, v	178456	3	545.00	1,635.00
6	HOSE, PLAIN	3081053	11	2,140.00	23,540.00
7	HOSE, PLAIN	215964	1	855.00	855.00
8	HOSE, PLAIN	505062	1	559.00	559.00
9	HOSE, FLEXIBLE	AK 10050 SS	6	1,705.00	10,230.00
10	HOSE, FLEXIBLE	AK 6065 MS	6	1,565.00	9,390.00
11	HOSE, FLEXIBLE	AK 10070 MS	6	2,045.00	12,270.00
12	HOSE, FLEXIBLE	AK 6075 SS	3	1,766.00	5,298.00
13	HOSE, FLEXIBLE	AK 6012 MS	3	646.00	1,938.00

Moter

09

Page 1 of 7

SI. No.	Item Description	Part No/Drg No	Qty. (Nos)	Unit Basic Rate (Rs)	Extended Landed Value (In Rs)
14	HOSE, FLEXIBLE	AK 6008 SS	3	618.00	1,854.00
15	HOSE, FLEXIBLE	AK 6045 SS	3	1,253.00	3,759.00
16	HOURMETER	501151	4	1,368.00	5,472.00
17	CABLE, FLEXIBLE DRIVE	500185	3	518.00	1,554.00
18	CABLE, FLEXIBLE DRIVE	500188	3	255.00	765.00
19	GAUGE, PRESSURE	500109	4	649.00	2,596.00
20	C 10F0		79.00	316.00	
21	HOSE, FLEXIBLE	AK 4030 MS	4	781.00	3,124.00
		1,00,470.00			
	GST (SGST @ 9%+CGST @ 9%) @ 18 %				18,085.00
		1,18,555.00			

{Detail specifications as per Annexure -'A'}

- 2. TOTAL ORDER VALUE: The total order value will be Rs. 1,18,555.00 on F.O.R. Destination basis.
- 3. GST :(a) GST shall be paid extra as legally applicable during the scheduled delivery period. Present rate of GST is 18 % [SGST @ 9 % +CGST @ 9 %].
  - (b) The invoice shall be raised by you giving all the details as per GST Act/ Rules so as to enable BCCL to avail Input Tax Credit.

Date: 31.08.2018

- (c) You have to ensure proper uploading in your return so that BCCL may be able to avail Input Tax Credit.
- (d) You have to ensure that if BCCL does not be able to avail Input Credit due to your fault then the loss amount to be recovered from you.
- (e) The benefit of any extra input tax credit earned by you, if any, in future shall be passed on to BCCL.
- (f) E-Way bill, if required, shall be arranged by you
- (g) HSN codes and GST rates of the items covered in the above supply order placed will be as under:

Item	HSN code	GST rate
Belt, v	40103999	SGST @ 9 % +CGST @ 9 %
Belt, v	40103999	SGST @ 9 % +CGST @ 9 %
Belt, v	40103999	SGST @ 9 % +CGST @ 9 %
Belt, v	40103999	SGST @ 9 % +CGST @ 9 %
Belt, v	40103999	SGST @ 9 % +CGST @ 9 %
HOSE, PLAIN	40091100	SGST @ 9 % +CGST @ 9 %
HOSE, PLAIN	40091100	SGST @ 9 % +CGST @ 9 %
HOSE, PLAIN	40091100	SGST @ 9 % +CGST @ 9 %
HOSE, FLEXIBLE	40091100	SGST @ 9 % +CGST @ 9 %
HOSE, FLEXIBLE	40091100	SGST @ 9 % +CGST @ 9 %
HOSE, FLEXIBLE	40091100	SGST @ 9 % +CGST @ 9 %
HOSE, FLEXIBLE	40091100	SGST @ 9 % +CGST @ 9 %
HOSE, FLEXIBLE	40091100	SGST @ 9 % +CGST @ 9 %
HOSE, FLEXIBLE	40091100	SGST @ 9 % +CGST @ 9 %
HOSE, FLEXIBLE	40091100	SGST @ 9 % +CGST @ 9 %
HOURMETER	90292010	SGST @ 9 % +CGST @ 9 %
CABLE, FLEXIBLE DRIVE	85441990	SGST @ 9 % +CGST @ 9 %
CABLE, FLEXIBLE DRIVE	85441990	SGST @ 9 % +CGST @ 9 %
GAUGE, PRESSURE	90318000	SGST @ 9 % +CGST @ 9 %
	Belt, v HOSE, PLAIN HOSE, PLAIN HOSE, PLAIN HOSE, FLEXIBLE CABLE, FLEXIBLE HOURMETER CABLE, FLEXIBLE DRIVE	Belt, v 40103999 HOSE, PLAIN 40091100 HOSE, PLAIN 40091100 HOSE, FLEXIBLE 40091100 CABLE, FLEXIBLE BRIVE 85441990 CABLE, FLEXIBLE DRIVE 85441990

Page 2 of 7

Date: 31.08.2018

SI. no.	Item	HSN code	GST rate	
20	COUPLING, PLAIN PIPE	73079290	SGST @ 9 % +CGST @ 9 %	
21	HOSE, FLEXIBLE	40091100	SGST @ 9 % +CGST @ 9 %	

(h)Your GST details are as under:

SI. No.	Particulars Particulars	Firm's Details	
1	Name Salahan S	M/s Jaikar Techno Pvt. Ltd.	
2	Constitution of Business	Limited Company	
3	Trade Type (Manufacturer/Dealer/Service Provider)	Dealer	
4	PAN	AACCJ3455H	
5	Contact number	9431785226	
6	Provisional/Permanent ID provided under GST	20AACCJ3455H3ZW	

- 4. Packing & Forwarding Charges: Nil
- 5. Freight & Insurance Charges: Nil
- 6. Commissioning & Installation Charges: Nil
- 7. Mode of Dispatch: By Road on F.O.R. Destination, Freight paid basis.

NOTE: You will ensure safe & sound delivery of stores at consignee's end.

**8.** <u>Delivery Period</u>: To be completed within 60 days from the date of receipt of purchase order. However, keeping in view of our extreme urgency, you will put all efforts for earliest efforts.

Delivery schedule shall be reckoned from the 10<sup>th</sup> day from the date of order and the date of receipt of materials at our stores shall be treated as the date of delivery

Any increase in the rate of taxes & duties beyond delivery period will be to your account.

9. Consignee & Paying Authority: Consignee & Paying Authority for this

Order will be as under:

Consignee	Paying Authority		
In-charge	HOD(PAY),		
Civil Store, Koyla Nagar, BCCL	Koyal Bhawan, BCCL, Dhanbad		

- 10. <u>Payment Term</u>: 100% within 21 days of receipt and acceptance of materials by the consignee or from the date of receipt of Bill whichever is later by the consignee.
- 11. <u>Submission of Bill</u>: 100% value of bill duly stamped, signed & pre-receipted in quadruplicate, as per terms of the order should be submitted for payment to the paying authority through consignee.

Bill should be submitted along with challan, Consignment note ( if required ) , packing list if any, guarantee/warranty certificate, fitment / Test certificate if required , proof of payment of freight charges if freight is claimed , documentary evidence of taxes payment if claimed, Price Certificate and other documents as per order (Note – All documents to be submitted shall be duly authenticated).

- 12. <u>Guarantee / Warranty</u>: Supplied should be guaranteed for a period of 6 (Six) months from the date of receipt and acceptance at consignee end, whichever is earlier, against any manufacturing defects / workmanship / inferior quality. Any defect observed on this account shall be attended within 07 days from the date of receipt of report and replace the materials within 30 days free of cost.
- 13. PRICE CERTIFICATE: You should submit a certificate along with bill as stated below: "The rates of the stores under this contract are the lowest at which we are selling to any other customer/Govt. Deptt./ Subsidiaries of CIL/ Other PSUs. If the materials are sold at any lower rate than that mentioned in this contract to any other agency, the same will automatically be applied to this contract from that date "

Page 3 of 7

Brow

log.

14. Security Deposit: You will be required to deposit as security money 10% of the value of the contract (including Taxes, duties, and other charges to the FOR Destination prices in case of orders in INR and in case of IMPORT Order by adding the estimated amount of freight, Insurance, Port Insurance and Custom Duties etc. as applicable) without having any ceiling in the form of Bank Draft /Bank Guarantee (As per format given in Annexure-I) within 15 days from the date of order. The validity of B.G. will be for a period of three months beyond the expiry of delivery period. If the successful tenderer fails to deposit the security deposit within 15(fifteen) days from the date of order, the same shall be recorded as unsatisfactory performance for future dealings apart from taking any other penal action as may be deemed fit by BCCL. For successful tenderer, the Security Money shall be refunded within 30 days of satisfactory execution of contract. For unsatisfactory execution of contract and/or failure of execution of contract, the security money shall be forfeited.

Date: 31.08.2018

- **15.** <u>Inspection</u>: Final inspection shall be carried out at the consignee end after receipt of materials by the GM (E&M)I/C, BCCL or their authorized representative.
- 16. PENALTY FOR FAILURE TO SUPPLY IN TIME: The delivery of stores stipulated in Purchase order shall be deemed to be of the essence of the contract and delivery of the stores must be completed by the date specified. No materials should be supplied beyond the specified delivery period, unless specific approval has been obtained from this office.

In the event of failure to deliver the stores within the stipulated date/ period in accordance with the samples and/or specification mentioned is the supply order, and in the event of breach of any terms and conditions mentioned in the supply order Bharat Coking Coal Limited reserves the right:

- a) To recover from you, as agreed liquidated damages, a sum not less than 0.5% (half percentage) of the price of the stores which you have not been able to supply (for this purpose part of a unit supplied will not be considered) as aforesaid for each week or part of a week during which the delivery of such stores may be in arrears limited to 10%. Where felt necessary the limit of 10% can be increased to 15% at the discretion of Head of the Materials Management Division.
- b) To purchase elsewhere, after due notice to you, on your account and risk, the stores not supplied or others of a similar description without canceling the supply

Order in respect of consignment not yet due for supply or

- c) To cancel the supply order or a portion thereof, and if so desired to purchase the store at your risk and cost and also
- d) To extend the period of delivery with or without penalty as may be considered fit and proper. The penalty, if imposed shall not be more than the agreed liquidated damages referred to in clause (a) above.
- e) To encash any Bank guarantee which is available for recovery of the penalty or
- f) To forfeit the security deposit full or in part.
- g) Whenever under the contract a sum of money is recoverable from and payable by you, BCCL shall be entitled to recover such sum by appropriating, in part or whole by deducting any sum or which at any time thereafter may be due you in this or any other contract with Bharat Coking Coal Ltd. or any subsidiary of Coal India Ltd. Should this sum be not sufficient to cover the full amount recoverable, you will pay BCCL on demand the remaining amount. You will not be entitled to any gain under this clause.

#### 17. PRICE FALL CLAUSE:

- i)The prices charged for the stores supplied under the contract by the supplier shall in no event exceed the lowest price at which the supplier offer to sell the stores of identical description to any other organization from date of offer till completion of supply under the contract.
- ii) If at any time during the said period the supplier offers lower sale price of such stores to any other organization at a price lower than the price chargeable under this contract, the supplier shall forthwith notify such reduction or sale to the consignee concerned under intimation to GM(MM),Bharat Coking Coal Limited, Commercial Block, Level –III, Koyla Bhawan, Koyla Nagar, Dhanbad and the price payable under the contract for the stores supplied after the date of coming into force of such reduction or sale, shall stand correspondingly reduced. The above stipulated will not, however apply to exports by the supplier.

Page 4 of 7

KYEN

ba\_

Date: 31.08.2018

All other remaining commercial terms & conditions and technical specifications along with scope of supply will strictly be as per our notice inviting tender and as confirmed in your techno-commercially acceptable offer & as per company norms.

ALL DISPUTES ARE SUBJECT TO DHANBAD COURT AND JHARKHAND HIGH COURT JURISDICTION ONLY.

### INDENT & BUDGET CERTIFICATION REFERENCE

SN	Indent no. and Date	e. BC & e. FC Ref.
1	GM(E&M)'s Indent No: Nil	Budget certification/Revalidated/recommended vide BC no.
	dtd 24.10.2016 for DG	BCCL/Rev/2700/18-19/Other Stores(MISC)/969 dtd 10.07.18 of
	Sets commissioned at	Rs. 1,18,555.00.
	Koyla Nagar township IR	e.F.C.No. BCCL/REV/HOD(PAY)I/C/EFC/18-19/2700/Other
	No. <b>216153 dtd 27.12.16</b>	Stores(Misc)/1147 dtd 11.08.18 of Rs. 1,18,555.00.

Enclosure: 1.Technical Specification (Annexure-"A").

2. Format of Security Deposit (Appendix-I).

Yours faithfully,

For & on behalf of Bharat Coking Coal Ltd.

(Alok Kumar)

Dy Mgr (MM)

N S Saini)

(This has got the concurrence and approval of competent authority)

#### Copy to:

- 1. Depot Officer, Central Store, Ekra, BCCL.
- 2. HOD(Pay), Koyla Bhawan.
- 3. GM (E&M)I/C, Koyla Bhawan
- 4. MM (Tech Cell), MM Div, Koyla Bhawan.
- 5. Master File/Office Copy.
- 6. GM (MM), CCL / NCL / WCL/ SECL / MCL / ECL
- 7. Shri L C Singhi, IAS (Retd.), L-31, Third Floor, Kailash Colony, New Delhi-110048
- 8. Shri Pramod Deepak Sudhakar, IAS (Retd.) ,Address: A-002, Stellar Park Apartments, C-58/24 Sector-62, Noida (UP)- 201 301
- 9. M/s Cummins India Limited, Distribution Business of Cummins India Limited, Cummins India Office Campus, Tower A, 3<sup>rd</sup> Floor, Survey No. 21, Balewadi, Pune 411 045, Maharashtra, India.

# Annexure-'A'

# **SCOPE OF SUPPLY:**

SCHEDULE OF REQUIREMENT AND TECHNICAL SPECIFICATIONS OF BELT and HOSES FOR GENERAL MAINTENANCE OF DG SETS 500 KVA, 320 KVA 2 NOS. AND 125 KVA – 2 NOS. 250 KVA OF KOYLA NAGAR TOWNSHIP CUMMINS MAKE.

Sl. No.	Item Description	Part No/Drg No
1	Belt, v	3001600
2	Belt, v	178597
3	Belt, v	3040448
4	Belt, v	178567
5	Belt, v	178456
6	HOSE, PLAIN	3081053
7	HOSE, PLAIN	215964
8	HOSE, PLAIN	505062
9	HOSE, FLEXIBLE	AK 10050 SS
10	HOSE, FLEXIBLE	AK 6065 MS
11	HOSE, FLEXIBLE	AK 10070 MS
12	HOSE, FLEXIBLE	AK 6075 SS
13	HOSE, FLEXIBLE	AK 6012 MS
14	HOSE, FLEXIBLE	AK 6008 SS
15	HOSE, FLEXIBLE	AK 6045 SS
16	HOURMETER	501151
17	CABLE, FLEXIBLE DRIVE	500185
18	CABLE, FLEXIBLE DRIVE	500188
19	GAUGE, PRESSURE	500109
20	COUPLING, PLAIN PIPE	S 1059
21	HOSE, FLEXIBLE	AK 4030 MS

HOREN

Da

# Appendix- I FORMAT OF BANK GUARANTEE FOR SECURITY DEPOSIT

Date: 31.08.2018

M/s. Bharat Coking Coal Ltd.

Koyla Bhawan						
Koyla Nagar						
<u>Dhanbad</u> - 826005						
	arat Coking Coal Ltd. having					
	ion shall unless repugnant to	-				
	ion of Contract No					
	(hereinafter called					
	Deed of Guarantee as herein					
	fulfillment of the terms conta					
	having its office at		•	-		
	time the extent of Rs					
	suffered by or that may be ca					
	terms and conditions contain		Contract and to u	nconditionally pay the allio	unt claimed by	
	nd without demur to the exter		amand mada hy Du	urahagar on the Bank shall h	a conclusiva as	
	ne of the Bank) do hereby agr d payable by the Bank under					
	bility to pay or has disputed t					
	r regarding the claim. Howev	er, our nabn	ity under this Guar	rantee shall be restricted to	an amount not	
exceeding Rs	(Name of the Doub) do Contl	C		single shall some into force	from the data	
	(Name of the Bank) do furth					
	full force and effect up to				nee is made on	
	we shall be discl				libarty without	
	e of the Bank) further agree v					
	ffecting in any manner our of			ie		
	ime of delivery of the specifi he powers exercisable by the					
	ng to the said contract we sha					
	the said Supplier or for any f					
	d Supplier or by any such mat					
	ect of so relieving us the Ban					
	ne Bank beyond the period spe					
	then be due to the Purchase					
	ot to revoke this Guarantee d					
writing.	to revoke and durantee of	iding and ca	ineney encept with	providuo conseni er a		
_	nstitution power, to give this	Guarantee an	d Mr N	Manager who has signed it of	on behalf of the	
Bank has authority to do so						
	will not be discharged due to	the change in	n the constitution o	f the Bank or the Supplier.		
	from outstation branch of Dh				anch of issuing	
bank with address and	d location of the said branch a					
Name of the Bank	:					
Name of the Branch						
Location & Address The BG st	all be subject to the jurisdiction	ion of the cor	nnetent courts at D	hanbad District only 1		
1110 00 31	turi de subject to the jurisdien	ion of the cor	inpetent courts at 2			
The Bank guarantee i	ssued by the Bank on behalf	of the supplie	r in favour of Bhar	at Coking Coal Limited, sh	all be in paper	
	d under "Structural Financial	Messaging S	ystem". The detail	of beneficiary for issue of	BG under	
SFMS mode are furni	shed below:					
Name of Bank	State Bank of India			Name of Bank	ICICI Bank	
Branch name	Main Branch Dhanbad			Branch name	ICICI Bank, Dhanbad	
A/C no.	35160317947		OP	A/C no.	019605001057	
IFSC Code	SBIN0000066		OR	IFSC Code	ICIC0000196	
Datedday	of			Signature of the au	thorized person	
For Bank			For and on behalf of the Bank			
1 01 Da				Emp. Co		
				Emp. Co		

Page **7** of **7**